© Please pass out DHW Check Sheets

> DHW Check~
Box : Day 3 Exponents

Box : Day 3 Exponents
> When you finish your DHW Check, Please

begin completing the following warm-up:

1) Solve for x. Determine the number of solutior
e 13 = L 13)
_ 7 X 3 4(.1 + 15
2)3.2 x 1_
2 —
3) Write as an improper fraction. 2.12
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Day 3~ Exponents HW gnswers
Student
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2. Which expression is equivalent 1020% = 20%
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Which of the following represents 16~ Susing
exponential notation? '
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5. !r‘(-3)'{ * ('3)3 = (=37 swhat s the value of v?
A. 3
@ (3)°x(-3)* = (3f*(3)
C. 10
D. 25
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7. Which c)l:lhc following is equivalent o
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8. Which expression is equivalent
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4. What is the value of the
expression 8-2 x 8:?
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Exponent Homework

9. Which expression is equivalent to

8. Which expression is equivalent
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10. What is the value of the
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POWER OF APOWER



=0 : —__\\¥s. Gallad

Exponents .

Expanded Form and Exporential #,m

Power of a Power
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Rule: 39.0{): 39

Rule : @ Keep the base
@ wiuttaply the exponhents (dish']buk‘.)
@) Rememler: There cannct be o nc,aaﬁve_ expwent
N the final answer?
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